	Question
	Answer

	1 (a)
	Mrs T.Swift:

Gross monthly salary= £83,083.33

Total deductions= £15,756.30

Net Pay= £67,327.03

Mr C Harris:

Total basic pay=£240,000

Overtime rate= £1800

Overtime pay= £63,000

Total gross pay= £303,000

Total deductions= £31801.15

Net Pay= £271198.85

	1 (b)
	£338,525.88

	2(a)
	£119,800

	2(b)
	£218,725.88

	3
	Taylor and Calvin should go for holiday company as its cheapest by £2723. Cheaper than A at £14,300 and B at £14,835.

	4 (a)
	4,350,000 rupees

	4 (b)
	£402.30

	4 (c)
	£12500

	4 (d)
	£11.17 (£11.1666…..)

	5 (a)
	Loan Payment 1=monthly repayment is £624.78. (last payment £624.78 x 12= £7497.36 which is an over payment)
Loan Payment 2=monthly repayment is £1179.20

	5 (b)
	I would recommend Lindsay chooses loan payment 2 if she can afford it as it is cheaper overall for her at £7075.20 which is less than £7497.30

	6 (a)
	£44,460

	7 (a)
	£7293
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